f21.notebook March 1, 2016

$$\frac{daplacetransformen av derivator.}{d\{f(t)\}} = \int_{0}^{\infty} f(t) \cdot \tilde{e}^{st} dt = F(s)$$

$$\frac{d\{g(t)\}}{ds} = \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt = Y(s)$$

$$\frac{d\{g(t)\}}{ds} = \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt = Y(s)$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} - \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} - \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} - \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} - \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t) \cdot \tilde{e}^{st}\right]_{0}^{\infty} + s \cdot \int_{0}^{\infty} y(t) \cdot \tilde{e}^{st} dt$$

$$= \left[y(t)$$

f21.notebook March 1, 2016

Ex) 
$$\{y'(t) - y(t) = e^{2t}\}$$
 (1:a ordin. de. linjor)  
 $\{y(0) = 2\}$   
 $\{y'(t)\} = \{y'(t)\} = s \cdot \{y'(s)\} - \{y'(s)\} - 2$   
 $\{y'(t)\} = \frac{1}{s-2}\}$   
 $\{y'(t)\} = \frac{1}{s-2}\}$   
 $\{y'(t)\} - \{y'(t)\} - \{y'(t)\} - \{y'(t)\} = \{y'(t)\} - \{y'(t)\} = \{y'(t)\} - \{y'(t)\} = \{y'(t)\} = \{y'(t)\} - \{y'(t)\} - \{y'(t)\} - \{y'(t)\} - \{y'(t)\} - \{y'(t)\} = \{y'(t)\} - \{y'(t)\} - \{y'(t)\} - \{y'(t)\}$ 

$$(s \cdot \gamma_{(s)} - 2) - \gamma_{(s)} = \frac{1}{s-2}$$

$$(s-1) \cdot \gamma_{(s)} = \frac{1}{s-2} + \frac{2 \cdot (s-2)}{s-2} = \frac{2s-4+1}{s-2}$$

$$\gamma_{(s)} = \frac{2s-3}{(s-2)(s-1)}$$

Partial braks uppdelning (PB) ands

$$Y(s) = \frac{2s-3}{(s-2)(s-1)} = \frac{A}{s-2} + \frac{B}{s-1}$$

samma hämnd-som i VL

ger taljama:

$$2s-3 = A(s-1) + B(s-2)$$

identifiera

S: 
$$2 = A + B$$
  $A=1$   
S:  $-3 = -A - 2B$   $A=1$   
 $-1 = 0 - B$   $A=1$ 

inverstrainf. qur  
Svar: 
$$y(+) = e^{2t} + e^{t}$$

f21.notebook March 1, 2016

ex) 
$$\begin{cases} y''(t) - 3y'(t) + 2y(t) = e^{t} \\ y(0) = 1 \\ y'(0) = 2 \end{cases}$$

$$\begin{cases} f(y(t)) = f(s) = f(s) \\ f(y'(t)) = f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) + f(s) \\ f(y'(t)) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) + f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) + f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) + f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) + f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) + f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$f(y'(t)) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$f(y'(t)) = f(s) \end{cases}$$

$$\begin{cases} f(y'(t)) = f(s) \\ f(s) = f(s) \end{cases}$$

$$f(y'(t)) = f(s) \end{cases}$$

$$f(y'$$

$$(s^{2}-3s+2) \cdot \gamma(s) = \frac{1}{s-1} + \frac{(s-1)(s-1)}{(s-1)} = \frac{1+(s-1)^{2}}{s-1}$$

$$s^{2}-3s+2=b$$

$$s=\frac{3}{2}+\frac{1}{2}-\frac{2}{4}$$

$$\gamma(s) = \frac{1+s^{2}-2s+1}{(s-1)\cdot(s^{2}-3s+2)}$$

$$s=\frac{3+1}{2} < \frac{2}{(s-1)(s-2)(s-1)} = \frac{s^{2}-2s+2}{(s-1)^{2}(s-2)}$$

$$\gamma(s) = \frac{s^{2}-2s+2}{(s-1)(s-2)(s-1)} = \frac{s^{2}-2s+2}{(s-1)^{2}(s-2)}$$

Partial braks uppdalu. Awals:

$$Y(s) = \frac{s^{2} - 2s + 2}{(s - 1)^{2}(s - 2)} = \frac{A}{s - 1} + \frac{B}{(s - 1)^{2}} + \frac{C}{s - 2}$$

$$s^{2} - 2s + 2 = A(s - 1)(s - 2) + B(s - 2) + C(s - 1)^{2}$$

$$s^{2} - 2s + 2 = A + C$$

$$s = -2 = -3A + B - 2C$$

$$s^{2} = 2A - 2B + C$$

$$v = \begin{cases} 1 & 0 & 1 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

$$v = \begin{cases} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 2 & 1 \end{cases}$$

f21.notebook March 1, 2016

$$Y(s) = \frac{s^{2} - 2s + 2}{(s - 1)^{2}(s - 2)} = \frac{-1}{s - 1} + \frac{-1}{(s - 1)^{2}} + \frac{2}{s - 2}$$

$$- e^{t} - t \cdot e^{t} + 2 \cdot e^{2t}$$

$$Y(t) = -e^{t} - t \cdot e^{t} + 2 \cdot e^{2t}$$

$$X + 4 \times = \sin 2t$$

$$X$$